GENERAL SCIENCE — PERIODIC TABLE -2

THE & Tl ocdl AT ... AT gleTm g2

(a) Atomic number /9THTI] q&ar

(b) Atomic weight /IXATIT Y

(c) Number of valence electrons doid E@IEI@JFIT $r gEar

(d) Number of neutrons /o-qt\g,\fe-l Fr geE
RRB Group-D 24-10-2018 (Shift-11)

2. Elements of group 1 are called 2/aAg 1 % dcdl ®F ——hgd o7
(a) Halogen /galToleT

(b) Alkaline metal /&I ?Il?of

(c) Noble gases /3E§Vc," EIp:)

(d) Alkaline earth metals /&TRIT C(I"%_Cﬁ EHQUV

RRB Group-D 23-10-2018 (Shift-1)
Lithium, sodium, potassium, rubidium, cesium and Francium are alkaline metals in the modern periodic
table.

U gl

3. Californium is a member of the ———— group. A EDIGRE:] —HHAg HT HaH gl
(a) Halide /%?TIBE

(b) Actinide /TUTFesITSS

(c) Inert gas/31fpa 3T

(d) Halogen /geiioTeT

RRB Group-D 24-09-2018 (Shift-1I)

RRB Group-D 15-10-2018 (Shift-1II)
Californium is a member of the actinide group. Its chemical symbol is Cf and atomic number 98.

hiApITiad TlFellss qog HT HGET &1 FHR AL Ieh cileh Cf TUT TAI] Al 98T

4. Hydrogen and helium Is placed in................. VHESSE 3R SfOTT B o, H @ S gl
(a) Third period /i &3r 31a@fer

(b) First period /9gelr 31afer

(c) Fourth period /2t 3rafer

(d) Sixth period /ST 3@fer
RRB Group-D 12-10-2018 (Shift-1I)
Only two elements Hydrogen and Helium are placed in the first period in the periodic table.

3Mad GRUT F hael & dcd g8alele 3R gIfolds &l Ugel 3ad & @M I14T gl
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5. Which of the following elements has the smallest atomic radius in the fourth period?

(a) Chlorine

(b) lodine

(c) Fluorine

(d) Bromine

RRB Group-D 31-10-2018 (Shift-1II)

When moving from left to right in a period, the atomic radius decrease from alkali metal to halogen in a
regular order, as the number of electrons of the outermost shell increases with increasing nuclear
charge.

forell 31act 7 a0 @ QU ST W, WA Fedm &R 91g § golletel oo U AT He &
g ST §, Fifch URATY] §Gel o Y FGH TG HIeT o Foldelal $h H&IT ¢ STl g

6. The atomic number of lanthanum is? /?f??l?ﬂ:r il qTFITU;I' FHHATS %’?

(a) 55

(b) 56

(c) 58

(d) 57

RRB Group-D 08-10-2018 (Shift-lIl)

Lanthanum is a chemical element, indicating 'La' and the atomic number '57'. It is a flaxible soft, silver-
white and highly reactive metal element.

HeTH Toh TS ded 8, S AT 3R WA AT '57' SR §1 g Teh oFellell A, e
athe 3R gt gfdfhareiier arg dca g

7. The atomic number of actinium is- /uﬁr—:ﬁrmﬂr il qTFITU;I' HHTH %’-
(a) 89

(b) 90

(c) 88

(d)91

RRB Group-D 09-10-2018 (Shift-1I)
Element — Atomic Number
Actinium (Ac) — 89

Radium (Ra) — 88

Thorium (Th) —= 90

Protactinium (Pa) - 91

8.Identify the element that does not belong to the following group. /38 dcd Fr SEEIG! HI S
fAefafaa aag & F&ftd =gt gl

(a) Neon

(b) Platinum

(c) Krypton

(d) Argon

RRB Group-D 22-09-2018 (Shift-I)

Platinum is an element of transition series whose atomic number is 78 while the other given elements
are neon, krypton and argon are inert gases, which are zero group elements in the periodic table.
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cAfeeTa FhAUT AON HT Tk ed & FTER WA FEAT 788 S@fh 3 U AT deq
foretter, feeet 3M et o A ¥, S amad awolr e waE A B

9. The atomic number of N is 7, then the atomic number of the third element of the nitrogen group is:
N T GATY] AT 7 &, T ASerolel HHE & AR ded &I TA] HAG §

(a) 13

(b) 25

(c) 35

(d) 33

RRB Group-D 27-09-2018 (Shift-1II)

Elements present in group 15 of the periodic table are also called elements of nitrogen group.

ad ROl & F@A 15 F AlGE dcdl H ASCIS §HE & ded Y FHEl ST B

10. What do Lithium, Sodium and Potassium have in common? /ﬁﬁ'l'm:l', s 3R gelRa #§

FIT AT 82

(a) They are alkaline soil elements.

(b) These are inert elements.

(c) They have one electron in their outermost shell.

(d) They do not form oxides.

RRB Group-D 22-09-2018 (Shift-I)

Lithium, sodium and potassium are alkali metals. The outermost shell of all elements of this group has
one electron.

fafgs, @ifsga 3 defs &R arqe €1 58 @eg & @ deal & Hed 9l HT F T
$IFCIeT Bl &

11. The elements of the first group are called. /9UH H¥Hg % dcd Fgdld gl
(a) Inert gases /31fhT AT

(b) Halogen /geiioTel

(c) Alkali metals /&TIX ‘<’II?:|"UU

(d) Alkaline soil metals /&I fﬁ?}'a’ %ﬂT:ID'U'U

RRB Group-D 30-10-2018 (Shift-1II)

The elements of the periodic table are first groups of lithium (Li), sodium (Na), potassium (K),rubidium
(Rb), cesium (Cs) and Francium (Fr) called alkali metals.

3Tad RO & deg e (L), @f3as (Na), deflRms (), s3I (Ro), ST (C5) 31k
WA (Fr) & 6o Tfg & folee &R g &l Sia 2

12. Which is the only non-metal present on the left in the modern periodic table? /HT@EF 3mad
ARON & ST 3R Alolg THATT 1T Hid A &2

(a) Helium /gITeras

(b) Carbon /&TeT

(c) Hydrogen/é'l%ifl?rlﬂ
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(d) Neon /e

RRB Group-D 02-11-2018 (Shift-1II)

Hydrogen (H) is placed with metals in the left part of the modern periodic table. Hydrogen is the only
non-metal present on the left side in the periodic table. Hydrogen has atomic number 1 and is placed in
the first group and the first period of periodic table.

3Mefieh e AROM & S0 $ET & gISSiolel (TH) I U3 & WY @M a7 | gI3giotat
Had ARON F o5 3R HiS[g UHAT I &1 TS3Iole I WA HhAh 1 ¢ AR 58
HTET ARON & Ygol W 3R Ugel 3ad A @M = §

13. In the modern periodic table, elements with atomic numbers 58 to 71 are called -

IMYAF 3T ARON F GRA] HAE 58 § 71 deh Tl el T Hel AT § -
(a) inert gases /31fohT AT

(b) halogen /geiTotel

(c) Lanthanoids /?»‘f?fl?-lu'lssﬂ

(d) Actinides /I’%’IES'H

RRB Group-D 24-09-2018 (Shift-1II)
Elements with atomic numbers 58 to 71 in the modern periodic table are called Lanthanoids series.

3T T ARON & GATY] FEAT 58 71aTel dcdl &l AAASS AW gl ST g

14. Aluminium was named as ....... metal in the modern periodic table.
3megfoes e WROT H TegATwTw Ao T & AH T T o
(a) Scandium

(b) Gallium

(c) Germanium

(d) Aluminium

RRB Group-D 18-09-2018 (Shift-1II)

Aluminium is named as gallium metal in the modern periodic table. Its chemical symbol is Ga, atomic
number 31 and atomic weight 69.8

3T T ARON & TegHIgH 1 dfos urg a1 A e aran B gaer qaratds
=g Ga, TRAT] ShaATh 31 TAUT WAY] HR 69.8 8

15. The second group of elements is called ? /dcal & q\{-lj\ HHg T FAT gl Sl %‘?
(a) halogen /galTolaT

(b) alkaline metal /&T{r=r %ngr

(c) Alkaline earth metal /&TRIT C[%_cﬁ ‘c’.TIFQf

(d) Inert gas /31fp 3T

RRB Group-D 31-10-2018 (Shift-I)

Alkaline earth metals are a group of chemical elements located in second group of the periodic table.
In this group are beryllium (Be), magnesium (Mg) calcium (Ca), strontium (Sr.), barium (Ba) and radium
(Ra) are present.

&G gear a1qu 3Haa RO & @l @ A T8 Tarfae dedl & Teh §IE &
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SH HHE # SRIH (Be), ATHITRNIAA (Mg) HToREFA (Ca), FIfETA (sr.), SRIA (Ba) 3T WTH
(Ra) HiISIg €

16. Proposed a present modern periodic table? [T 3-1T‘{49ﬁ$ 3Tad AR &1 9Eara e

(a) Mendeleev /HSelld

(b) Newland /Fqﬁ?

(c) Dobereiner /3RS X

(d) Mojle /HTSTer

RRB Group-D 22-10-2018 (Shift-1II)

Modern periodic table is also called long form of periodic table. It has 18 group and 7 periods.

Moseley has proposed a modern periodic table.
While the father of the periodic table is Mendeleev

3Ty e RN & 3T GRON H1 8 T $7 FgT ST &1 FHA 18 FHE IR 7 A
gl

A & T ITYAE I AR & ST @ gl

Safer 3ad aRolY & S Hseld &

17. Which of the following atomic numbers have a pair of elements belonging to the same group?
[FFfafEd & & 6 A G # U & WHE A HfUd dedl T U ST ge

(a) 13 and 31

(b) 12 and 30

(c) 14 and 33

(d) 11 and 20

RRB Group-D 22-10-2018 (Shift-111)

The atomic number of aluminium Al is 13 and the atomic number 31 of gallium (Ga), both are in the
13th group or IlIA subgroup in the modern periodic table.

TogAITH 3T T RATY] HEAT 13§ 3R Afrad (Im) &1 WAI] Fd&am 318, =t 3meen
e AR # 139 FHE AT A ITHAG H Bl

18. Very metallic element in the fifth period........ is? /Arad 3Tad H 3cdd Yifcas dedl . . . .
R 4

(a) platinum/colfeaTeT

(b) calcium /hToRTIH

(c) Gold /&T=T

(d) Rubidium /3fafzae

RRB Group-D 22-10-2018 (Shift-1i)

In Moseley's modern periodic table (7 Periods, 18 groups), the metallic property of an element

decreases when going from left to right in a period, so the first element of the fifth period is rubidium(
37RDb85.5.) This is a very metallic element.
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A &I MY e FROT (7 30, 18 Gefg) H, ol 3ad & a0 & &V Sl W cfed &l
HTfcaeh I[0T T STl 8, SATAT reld 37acl i Ugell ded SIS{SIHA (37Rb85.5) 81 ) I§ Ueh
37cad uifcas dea gl

19. In the modern periodic table, ......... period does not include metals -
3megfieh e AR 7 ... e A U A =gl ¢ -

(a) 2

(b) 1

(c)4

(d)3

RRB Group-D 11-10-2018 (Shift-1II)
Period 1 of the modern periodic table does not include metals. The periodic table was designed by
Mendeleev in 1869 AD.

megforen 3T WROM & 3afer 17 arqu anffer w67 81 3ad WRol 18695, # ASelld ganT
ESIEGEC IR

20. The atomic number of lanthanides isin ......ccceceeeueeenn .. range?/?fa?ﬂ???ﬁ' #r tITtFI'I'U:DI' e

(a) 90-103

(b) 89-102

(c) 58-71

(d) 57-70

RRB Group-D 09-10-2018 (Shift-I)

The atomic number of elements in the lanthanides range from 58 to 71. These elements areplaced in a
separate category outside the sixth period.

HYeTssd # deal WA HEAT 58 H 71 TAh gl ol
3sT dcal @ ©6 3dd & d18Y Ueh 37erer o & @r 3w gl

21. In the modern periodic table, ......... and ........ each of the periods has two metalloids-

3myfash 3 ARl &, L3R L Ycdeh IMad A al 3TUrU g §

(a) 5,6

(b)3,4

(c)6,7

(d)4,5

RRB Group-D 04-10-2018 (Shift-1I)

The modern periodic table there are two metalloids in 4 and 5 periods each. Period 4 has germanium
and arsenic and Period 5 has antimony and tellurium metalloids.

3T 3T ARON & 4 3R 5 3Ed & ar 3uurg &1 RIS 4 F AR R IS §
3R ARTs 5 # d@aeN AR SogRaA Acdissd £

22. An element of atomic number 16 is present in the periodic table.............. period?/Wl'UI HHAD 16
T Teh ded T AROT H AlgE §...o...... ?
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(a) 3rd

(b) 4th

(c) 6th

(d) 5th

RRB Group-D 28-09-2018 (Shift-I)

The third period of the modern periodic table contains 8 elements, which are sodium (Na), magnesium
(Mg), aluminium (Al), silicon (Si), phosphorus (P), sulphur (S), chlorine (Cl), and Argan (Ar). The atomic
number of sulphur (S) is 16 and this element is the element of the p— block.

3Mefeh e AROM HT HEY 3G & g dcq WA &, S ASTH (Na), HITRIGH (Mg),
TogATaTaA (Al), Rl (Si), BREPRE (P), W (S), Folllel g1 (HITer), 3R M (TN
HeHT () T ITAY] hdATh 168 AR Ig dcd p-selleh HT ocd gl

23. In the modern periodic table, in which period elements with atomic numbers 19 to 36 are placed?
3megfeh 3MMac AR H WA Al 19 § 36 oo dled dedl I fohd 3MTacT & I@n a3 g?
(a)5

(b) 3

(c)6

(d)4

RRB Group-D 26-09-2018 (Shift-I)

24. In the modern periodic table, zigzag lines. . ....... Separates ?
mefes e GROT H S-A W@ L. L L. 37T LT g
(a) Metals from non-metals /3-T?JI'IT:DT3-ﬁ q ‘EJI'I@'UV

(b) Metalloids from non-metals /3-T?1'I_Sf3ﬁ o 3941d

(c) Metals from halogen /gellolel & ?-TIF;I,'U'U

(d) Mmetalloids from metals /UIFJB-]SF o 3cr*a1?-ar
RRB Group-D 25-09-2018 (Shift-1I)
RRB ALP & Tec. (20-08-18 Shift-1I)

25. The element with atomic number 56 belongs to which block?

TRATY] ShATeh 56 ATl ded fohd sclleh & Heftd g2

(a)d

(b) s

(c) f

(d)p

RRB Group-D 25-09-2018 (Shift-I)

The 'Periodic Table' is a system of showing chemical elements as a table with their corresponding
characteristics. The modern periodic table has 18 groups and 7 periods. The atomic number of barium is

3 ARON TEATAS dcdl T 3ofeht Hared [AAVansit & @y v drfosr & &0 7 f@e &
T Yollell g1 3MYfeh e RoM & 18 Fofg 3R 7 3ad &1 SRIA 1 WA HeAih ¢
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26.The element of the lanthanide sereis with atomic number 58 is
deArsEs AqF F dcd gl

(a) Lanthanum/ofdsTeT

(b) Stranium /EfTs

(c) Thorium/Efaas

(d) Cerium /ARIHT

RRB Group-D 22-09-2018 (Shift-1II)

The element of the lanthanide sereis with atomic number 58 is cerium the lanthanide series of the
modern periodic table that contains elements of the fblock. Whose atomic numbers range from 58 to
71

Wﬁwss%mﬁﬂmmwwmaﬁaﬂwmmﬁ
1SS H@er § S T selleh & deq AR &1 TSieTeht TRATT] sheATh 58 F 71 oeh giar
gl

./qwuga'wssa:ﬂw

27. .. ... Is not an actinoid? /. ....... viFeass gl g7
(a) Thorium/TRT

(b) Nobelium /A foras

(c) Terbium/cfaas

(d) Fermium /®faas

RRB Group-D 22-09-2018 (Shift-1II)
In the modern periodic table, the actinide range (f block) is atomic number 90 to 103.

3meyfieh e AROM H, Tidegs ST (Th selich) TRATY] FEAT 90 103 &

28....... Is the only non-metal present in group 1 of the modern periodic table? /... ... Far 3myfae
e ARON & WHE 1 H UHAE U Alg 8?

(a) Hydrogen /E'ISE?IGIFF

(b) Cobalt /FIeTee

(c) Potassium/gTe TR

(d) Rubidium /3Taf3gsr

RRB Group-D 03-10-2018 (Shift-I)

RRB Group-D 22-09-2018 (Shift-1II)

The first period of the modern periodic table has two elements, hydrogen (H) and helium (He).
Hydrogen is the only onenon-metal present in group-1 of the modern periodic table.

3Meyfieh e AROM & 9gel A H e dcd g, §3siort (H) 3R Efera (He)l
gISSIolel 3TYfeieh 3MTac ARON & Fafg-1 H g ThaT IR-uTd gl

29. What is the first element in the periodic table? /3TIT:|T-€f grofr &7 Ygell dcd $isT AT %’?
(a) Oxygen/3iTargSTa
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(b) Hydrogen /& ESIEH
(c) Neon/fateT

(d) Helium /&Yfor s

The first element in the periodic table is hydrogen

3Tad RO & Ugell dcd gSslele &

30. The atomic number of an element is 17. What is its place in the modern periodic table?
forely ded o1 TRATT] AT 17 §1 3T Mac ARON & SHHT FAT TUT &2
(a) Period 17 group 3

(b) Period 3 group 17

(c) Period 2 group 7

(d) Period 7 group 17

RRB Group-D 15-11-2018 (Shift-I)

31. Lanthanides and actinides are also called ............. /éfﬂ?nsa:r 3R Umﬂ' Bl o T Fer
ST &

(a) Internal transition element /3TdRS® FHAUT dcd

(b) Inert gas /31fshT 3T

(c) Common elements /ATATT decd

(d) Transition elements /G%&YT decd

RRB JE 24.05.2019 (Shift-1V)
Lanthanides and actinides are also called Internal transition elements

s 3R viFearssa &t 3alRe AT deg ot Fer ST §

32. Elements like Li, Naand K. . ... are related to ?/Li, Na 3R KS& dcal . . . ¥ F&fd § ?
(a) Alkaline soil group

(b) Halogen group

(c) Zero group

(d) Alkali metal group

RRB Group-D 12-11-2018 (Shift-1ll)

Elements such as Li, Na and K belong to the alkali metal group/dcd &R ‘ETI_(;T g ¥ geafad g

33. The elements of an F-block are called: /U'CF-GHT% % dcal &l chgl SIldl %’:

(a) Alkaline soil metals

(b) Transitive elements

(c) Internal transition elements

(d) alkaline metals

RRB Group-D 01-11-2018 (Shift-I)

The elements of the F-block are called internal transition elements because their outer three shells are
partially filled. this series begins after La (57), with elements ranging from atomic numbers 58 to 71.
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Uth-sclldh & dedl T AR THHAUT ded &gl SIdl g FAITh 3a7ch gl diel el Hifes &9
¥ BT 81 TE HTell o (57) % dle YT gl g, [STHH TAV] &A1 587 710 & ded
g &l

34. Which group of modern periodic table contains complete valence shells and chemically inert
elements?

3mefores e AR & fhH ToHg A qUT HASThel A1 R TERIfHS &9 @ WA doa
emfAer g2

(a) 15

(b) 16

(c)17

(d) 18

RRB Group-D 12-11-2018 (Shift-I)

35. Which groups of the modern periodic table consists of a full-covering valence electron and
chemically inert elements?

3Mefeh e ARON & fohe Feg A qUI-3MMEROT dled dold Felaclel 3R IS & &
fAfSea dca anfaer &7

(a) 15

(b) 16

(c) 18

(d) 17

RRB Group-D 03-10-2018 (Shift-1I

36. Which of the following scientists does not contribute to the construction of modern periodic table?
fFrfafEa & & g dwfas &1 3myes 3ad IRl & AT & Feree T8 82

(a) Democritus /SAfheT

(b) Al-Razi and John Newlands /3Tel-33iT 3 ST Eﬁ?ﬁr

(c) Johann Wolfgang Dobereiner /STl aicwhaial Sls\leo-N

(d) Henry Mosely /g=TT HI&or
RRB Group-D 01-12-2018 (Shift-I)

37....... is tetratomic element? /.. ... ... é‘g‘d‘iﬁa: decd %‘?
(a) Argon/3TI?‘I?-|'

(b) Copper /aTaT

(c) Chlorine /eFelTeT

(d) phosphorus /BIRERRY

RRB Group-D 05-12-2018 (Shift-1II)
Phosphorus is a chemical element indicating P and atomic number 15. It is a reactive element, due to
which it is not found in free state. It is the tetratomic element, discovered by Henningbrand in 1969 AD.
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BRARA Teh TS dod § S O 3R 9AT] e 15 ST §1 T§ T Tiafshanier
dea &, % FRT 95 AF 39w F AL 9T e ¥ FE A dAed ¢, TR @
gfersis & 1969 5. & &r AN

38. What is the name of that inert gas, which is placed in the first period in the modern periodic table.

/38 3T NG F1 FA A ¢, S0 IS ad Ao A GUA e A @ IR g
(a) neon/faaTeT

(b) hydrogen /asg’la?r

(c) Krypton/ferceaT

(d) Helium /gITera s

RRB Group-D 03-12-2018 (Shift-1I)
The inert gas 'helium' is placed in the first period in the modern periodic table. EHTW 3Tad gRofr

& 3fpa A fTE FF 9¥HT Iad F @T AT B

39, e, , generally exhibit variable valency. /.............. , 3 di 9 gRad=eiier @aietshdr yeiia
A &

(a) Elements of d-block /31-selleh & ded

(b) Non-metals /H%ngr

(c) Elements of s-block / s -selfeh & ded

(d) Gaseous elements /3G dea

RRB JE 26.06.2019 (Shift-I)
The elements of d-block generally exhibit variable valency/

B-sclieh & dcd A diX W IRIIAMNT FASThdT Jeid aa &

40. In which groups elements of d-block are found? /ZCﬁ-@chh % dca fohed {-Id-lt\si H gT S %?
(a) 18th group only /&ael 18ar g

(b) Elements of 8th group only /ahddl 83 g % dcd

(c) Elements of 9th group /9d g % dcd

(d) Between 3to12 (3-12) /3 & 12 & & (3-12)
RRB Group-D 31-10-2018 (Shift-1I)

41. In the modern periodic table, which two periods have 8 elements each?
3megfeh e AR & fahet &) 3rmadt 7 8-8 dca &?

(a)4and 5

(b) 1and 2

(c)3and 4

(d)2and3

RRB Group-D 30-10-2018 (Shift-I)

A period is a horizontal row of the periodic table.
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There are seven periods in the periodic table, each of which starts from the left side of the periodic
table.
Period 1 has only two elements (hydrogen and helium) while Period 2 and 3 have 8 elements.

37Tad, 3ad @rRolY & e &faer 9fFa &
e ARV F AT 3Ed g, e @ gcden 3ad §Rol & 918 3R @ P& §iem gl
3Mad 1H Fad & dcd (gr8sra 3R §iferas) § Sefe 3mad 23R 3 8dca g1

42. The 2nd and 3rd period has? /q\qfr IRAT 3T & gl d g
(a) 8 elements /dca
(b) 4 elements /dcd
(c) 6 elements /dcd

(d) 1 element /dcad
RRB Group-D 16-10-2018 (Shift-1I)

43. The fourth and fifth period has- /agrei U9 UIH ad H %’-

(a) 18 elements

(b) 11 elements

(c) 9 elements

(d) 8 elements

RRB Group-D 16-10-2018 (Shift-1lI)

There are a total of 18-18 elements in the fourth and fifth periods. The current periodic table has a total
of 118 known elements.

9 AR 9=d M H Fer 18-18 Acd B 81 THA 3T TRON H FeT 118 AT AT g

44. In the modern periodic table, bromine Occurs in the. ... . . ... period.

3meyfieh e AR A Sl L. . L & H 9r S gl

(a) 3

(b) 5

(c)2

(d) 4

RRB Group-D 15-10-2018 (Shift-I)

Bromine (35Br80) is present in the fourth period of the periodic table and the 17th group element. It is a
non-metal which exists in a liquid state at normal temperature.

Sl (358131R80) 3Ty ARUN & WY e 3R 174 g oed & HIS[E 1 Ig Th 3741 &
Sl HAY d9A Wl 3aEdr 7 #Hlgg Wl &

45. In the modern periodic table, there are only gases are presetninthe period./HT%ﬁa? 3Tad
Aol &, haer G _ 3maa A7 fAuiRa g

(a) 4

(b) 1

(c)2

(d)3
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RRB Group-D 11-10-2018 (Shift-1I)
The periodic table is a system of representing chemical elements as a table with their corresponding
characteristics.

3fa ROl @RS dodl i 3efehl T fIAYAT & A1 Uk oAifershr & &9 & Fecd
A I Teh JOTTCT &

46. What are the elements with lanthanum in group 3, period 6 called?
THE 3, 3Mad 6 H AYTH arel dedl &I FAT FHgl el &?

(a) Actinoid /TTFe=AISS

(b) Lanthanoid /ﬁﬂ?ﬁs?

(c) Halogen /gailteT

(d) Transition element /Hh#HYT dcd

RRB Group-D 06-12-2018 (Shift-II)

The elements that come with lanthanum in groups-3, period-6 are called lanthanides. Under it, elements
with atomic numbers 58 to 71 are included.

d dcd St HATH & H1Y HeG-3, 3MAc-6 H T 8, 558 Fgelld ¢ S 3iclela WA
%A 58 71 deh dTel ded A gl

47. In the modern periodic table, the periods ——— contains lanthanides and actinides.
3meyfieh e RO #, it & ddessd 3R viFeassy A g

(a)4and 5

(b)5and 6

(c)3and 4

(d)6and 7

RRB Group-D 28-09-2018 (Shift-II)

Modern periodic table is also called long form of periodic table.

3mefores 3MTac WROM &I 3T AR 1 7 §9 87 &gl S &

48. In the modern periodic table, in which period elements of atomic numbers 11 to 14 are placed:

3megfAeh 3MTac AR # RATY] Al 11 F 14 T & deal HI by ITad H @r 91 &
(a)1

(b) 2

(c)4

(d)3

RRB Group-D 26-09-2018 (Shift-I)

The modern periodic table has 7 horizontal rows (period) and 18 vertical columns (groups), elements
ranging from atomic number 11 of sodium to atomic number 18 of argon are placed in period 3 of
modern periodic table

3myfieh e AR H 7 A qfedar (3maa) AR 18 FEAeR T (Fefg) §, WfsaH &
WA HAR 118 oI 3T & GRAY] shAieh 18 deh o dedl I 3MEfaAeh A AROM &
e 3 @ 4T &
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49. Groups of modern periodic table. ... ... Contains only 7 elements.

3yfae 3T RO TR, ... . . . SHH hdel 7 ded ATMHT g

RRB Group-D 24-09-2018 (Shift-1I)
There are only 7 elements in group 1 of the modern periodic table

3megfAeh 3MTacd AR & THE 1 H hael 7ccd 8

50. In the modern periodic table, which group of elements has an outer shell complete? /M%Iﬁa?

AT ARON A deal & TR HHAE T S 3ATeRoT qUT gidm §?
(a) 16th

(b) 17th

(c) 18th

(d) 15th

RRB Group-D 17-09-2018 (Shift-I)

51 The first and second group of modern periodic table are called? /W%ﬁ? 3Tad AROT & gUH

Ud T HHg I &1 gl Sl g?

(a) b—block

(b) s— block

(c) f- block

(d) p— block

RRB Group-D 05-11-2018 (Shift-I)

Elements in the periodic table are divided into four sub shell s, p, d and f based on their electronic
configurations.

3Tad IR F deal &l 3% Soidciiele Qedld & 3TUR 9T IR 3T s, p, d 3 &
fenfora frar = g1

52. Seventh period: /ATddl 3Tdd

(a) is incomplete with 30 elements. /30 dedl & T 3T gl
(b) is incomplete with 32 elements. /32 dcdl & T 3T gl
(c) is complete with 32 elements. /32 dcal & CI;Uﬁ' gl

(d) is incomplete with 23 elements. /23 dcdal & T 3T gl

RRB Group-D 16-11-2018 (Shift-I)
The 7th period is incomplete with 32 elements while the sixth period has complete with 32 elements
and it is the largest period.

7dl 3TE 32 7cal & HYOT § Sidieh ©aT 3Mad 32 ccdl & qOT § 3R Ig F9d 3T 30 &



